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Calculator Allowed score
I Which of the following statements must be false?
d 1
@A) —er3=—— T

dx 2./ e*+3

d
(B) Zx—(lnsinx) =cotx |

d 2 2 6
(C) E(4}'4—e+ & x? ——3)= 16x° + oo -[t—-

(D) E[1r11/4x+1]=4x+1 L

d T 2
2. Ify = x2e?*, then 71‘ = 5(1.92“(7/3 t cbc C'ZA@) by 2;\662‘[\('“\)

“a)  2xe = b) 4xe = c) xe 2x(x+ 1)

@) 2xe (x+1) e) xe #(x+2)




3. The functions f(x) and g(x) are continuous and differentiable, and have
values given in the table below.

x f(x) f'(x) g(x) g'(%)

2 4 2 8 1

4 10 8 4 3

8 6 -12 2 4

) e\ - 20D’ _ 41 (D
Given that k(x)=f—(x)—,ﬁnd k'(4). = J Q) \ * ‘C 3 — = =
g(x) {ﬁ(‘t’ﬂ - “
s s ' |

(?) - ®) 5 © @ ()

5

4. Find the equation of the line tangent to the curve f(x)=4x"*—5x"+x
( _ .
L= 1610 x|
@y +2=-5(x+1)
/ .
Mm 2@ (’,3 2 = S

(B) y+2=—6(x+1)
-2(

(€) y—5=-2(x+1)

at the point where x =-1.

D) y—5=-6(x+1)




5. Which of these functions has a point of exclusion at (1,3) and a vertical

asymptote at x = i".7
) glx) = %jll—
®) ()= ——
2x°-3x+1
2x +1

6.  Find the end behavior, if any, for g(x) = e* /5-x. /

a)  Left end none; y =0 on the right

b)  Leftend down; y =0 on the right
c) Leftend y=0;rightend up
Left end y =0; right end none

e)  None on the left and right




N — + U -0 ~-
‘ e T . —
< Y - 3
7. Suppose f(x) has the derivative f'(x)= —(x=3)%x+5)(x+1). Then
a)  f(x) has a relative minimum at x = — 5 and x%
b)  f(x) has a relative maximum at x = — 5 and a relative minimum at x = — 1
c) i (x) has a relative maximum at x = — 1 and a relative minimum at x = =35
_and ;
d) ) j i (x) has a relative maximum at x = — 1 and a relative minimum at x = =35
e)  f(x) has arelative maximum at x = — 1 and a relative minimum at x7-4
44
_44
dy d%y
8. At what point on the above curve is E >0 and ;—2 <0
T, y x . pg}b}:‘
) M /b)) N o P & Q (ncpene & (oS




L
9. A particle’s velocity is given by v(#) =cos?| —,t|. The particle’s
3

acceleration at z =1 is: o (L\ = 2 (\15 E; )[“5' %r) 2:—(
B — ®—y  ©, ®7F (©DNE

= 7,.. P A g — - | '+ )
10. The domain of y = ln(x3 - 9x) is € “\—{"/7)— _{:’:‘
O =3 o 2

a) x€(—o0, =3]JU[O, 3] b) x€(—o0, =3)U(0, 3)
¢) x€[-3, 0JU[3, o) @ x€(=3, 0)U(3, o)

) x€(-o0, )

1 +e*

11.  Which of the following is true of g(x) =

7 e
PE @ <=0

X

e
a) g(x) has a y-intercept at x =0 F
b)  g(x) attains a relative maximum at x =1
6 ) g(x) is increasing for x =0
d) g(x)hasazeroatx=0 F

e)  g(x) has a vertical asymptote at x =0 &=




12.

f(x)?

Given the graph above, which of the following might be the sign pattern of

flx) +0-0+0- fix) -—0+0-0+
s -3 3 4 b) x -3 3 a4
flx) +0 0+0 fix) -0 0-0

x -3 3 4 d) x -3 3 4
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d
a. E(tan4x2) = 932 @\3«\ e

P 2

d ' i
b. d—(ln(x2+7x)) @ b C'L\c«r}) pu et

* Xt o ot T
- gx—(e—%xcscx) = C;%)( - (L 0-31'*—\ + cso»c(c‘; o (’7 ))

o - C Céex LC:)TK - ’2_3

d ( sinSx ) B (&S*\gi) C.os S CS) —Cor S 67"‘)

dx \ 25+ x2 e
(zc )




2. Find the end behavior of each of the following functions. Show the limits
that lead to your conclusions.

a) y= (4x2 - 16x)e_0'25x
Leftend: ¢ r

Right End: 3 =D

b)  y=In{—x>-6x2+5x+30)
Leftend: (£

Right End: o€

16x
,x2+4 '

Left end: o &

c) y=-

Right End: g = O



16x

8 Find the domain and Zeros of y = — . Show the supporting

x2+4
derivative work.
Domain: ¥ GFO 4 \ZS)
| &
Zeros: (O, D)
16x

4. Find the extreme points of y = — 242 Show the algebraic work to

x<+

support the critical values.

Extreme Points: (@ 2 ( 2.-2)

Ay A(Jﬁﬁ ) (P ++) lie) ~ 16k (‘ZH)J
e X 2l 3 -

o’ 2 (> ¢u)

TC-32 B
&-ﬁ v\?%' (l bg), “

G, )
(Ot D)

L) 5%719*‘? =z 2L

&) %muga =0

ttv) Non e



5.  Find the domain and Zeros of y = (4x2 - 16x)e_0'25x . Show the supporting
derivative work.
Domain: 44% Q‘z‘d S
Zeros: (0, o ), é‘/‘ S)
-0.25x

6.  Find the extreme points of y = (4x2 - 16x)e . Show the algebraic

work to support the critical values.

Extreme Points: (.7 ¢ - 0, 3/2) (}0\ 422 ; zcm%e)

_z(qkz“lbk)eﬁ‘wx (f.)'{) -+ 6——%){ (gw'“’)

- @“K [:\3-\ %'\Lx~lé;)

Iu V2t [Tagu-grd) (L)
) 22 2o 2El-tp (D (52
2(4) b 432
w) Lo r%e



7. Find the domain and Zeros of y = ln( —x3—6x2+5x+ 30) on xe [—7, 5].

Domain: &Qé%\j;_ {D\' U Q;, I ) —_ & (Y."f 6)1'\&/ (\c-ré)

03 6 -2 o "-)
K“"—(( o . rs‘
Zeros( 5 b?ig (3 [ T?G)

7

8.  Find the extreme points of y = ln( —x3—6x2+5x+ 30) on x€ |:—7, 5].

Show the algebraic work to support the critical values.

Extreme Points: C.B‘FSD : 3..433) (“ 2; = ??9)

- 3\2‘ 1w+

-

Do~ (R + Nkt

L) -3 2 2k + S =0 » 0= ; %

330



Do TWO of the following three problems:

9.  Find the traits and sketch of y =(4x*—16x)e %%~

Domain: AL Reace Range: j € ~10,3 ﬂz( 0d )
x — intercepts: (0;‘9> U’l ¢ ‘33 y — intercept:
Extreme Points: ( 5’25, ~10.3(2) (l"~ 422 %. Wé

End Behavior (Left): U/ End Behavior (Right): 3 =O

-




10.  Find the traits and sketch y = ln( —x3—6x2+5x+ 30) on x € [—7, 5].

Domain: )(cC- 1(—— (o) L (‘-_\5.( \%5 Range: 3 c (/oll 3;}8’4’]

x — intercepts: (é (832.9) y — intercept: @ ( j,};s)
(l’. 2.4033,))
Extreme Points: (_3%> 3 J—{:?))
-3 3 38¢
End Behavior (Left): ~39: < End Behavior (Right): 13s <

TTT— —————— -
_“h"‘--._._-—...____,'h-

—— e f— -
S




Ll 16x
)e.’ Find the traits and sketch y = =, [ ——— .
x“+4

Domain: X & EO ( 00) Range: 3 = [;2 ¢ OTS

x — intercepts: (@‘ J) y — intercept: ({L ) O

Extreme Points: /O O) (;4,2/&»2,)

End Behavior (Left): NpME End Behavior (Right): \(‘S = O




